Ans :

Q2 :

Ans :

Q3 :

Ans :

Q4

Ans :

Qs :

Ans :

Q6 :

oG WS REL CARFEEREE GhUE

N:)
ETIRS
|
A
—
el

R
%

a>
A
o
>
ey
S
ey

PR R TN FEE R
FRPHZ S REL T EE K blic xR R A RS
DR R PR

TH A Rede B 2

o St AR d 2 i E LD et e e B & T PE
Fv B LW E LR

TwtEE R BT E i w2

#ER B R
$ A ST AR R B FY (ho$E R 807C~1001T ) 2

’tll‘ H Pé%’ﬁ\/ﬂ\zi\zm.)i ]:1 P {7
RGP AR T R R 2 B B R R SR T AR R

PR RBLFR RF R UG p PG o UE?



>
5
75}
S
B
%
N
(w
b
)
e
.\
(w
>
7
I
Yo
>
ey
%
I
>
ey
(ﬂd\
i
o
q?';
>y
o

Q7: TR*IZFMAMATE L EF | 5 w2
Ans: RAp RREFFFR T AAASFRT L2 F0 4ok 54

FEHL C FEASRZEY PR (ol R KRR

G4) & o
Q8: EAFMR* 2 A% Hi &AM HF LHE AHER ok
e

Ans @ EIAEP R s FTEP R REP 2 2 N AR BR B H v 2 3 & A
W A EURER S B2

QY: w3 "E B HE2Z s &, ?

Ans: Bdp i R H A T HERFEEF EASPL e Ko

QIO: Wi | preHE =2 1 & 4487

Ans i B B BE 2 A BEAMTLFRBASIM (38 ZHE) 4o
tEh S S Y S o A I P I R WL L DA

Qll: #Hk- = * 2 FRFEL WERAYRELIAE &
4o e %7 7

Ans: i & ARG M M- IR* 2L EYFERFE

a»

¥

858 R MR S B s RE A PLESN B E



Q12 :

Ans :

Q13 :

Ans :

Ql4:

Ans :

Q15 :

Ans :

A 5 5 = — = -+ % o\ 4 e
ARG K BEF D ZREASL LTI

e R EARR SRS L RREA S

=9

AL REZ W R PRI RREFRBe 2 AR T 2L8
ERAF2Z aRA R L2 AREaFRBE R BEES T
de a1 B R f{»i‘-%‘ ) ),i?_‘—fz‘&:b%\r/ﬁr‘%fk;? WE % 22 TR T
R e

£ (5 mfE) SIHATE - X 2 PWIEFILEE 4
rr,‘_;,?";%\ ?’\—’r";'é ;‘t’?ﬂl?’\i_}?ﬁ@;&ﬁ&’:}i@%fgtgg‘ﬁ?«

¥
Jm

2 T 10 RPN ST R AR -



28-S0 W SLESERE N J



